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- Answer any three questions from the following. Each question carries

SECTION - B
QN -

Six marks. (3x6=18)
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2) What are the Objectives of Accounting ?
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X 42,00,000, Current liabilities taken over by ¥ 3,00,000, settlement of
purchase consideration 75% in equity shares of ¥ 100 each and the ,
balance in 129, debentures of ¥ 50 each. "“
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4) Prepare royalty analysis table from the following details ¢

Royalty payable X 2 per ton of output, minimum rent 7 25,000 P.A_, short
workings are recoverable during the first three years of the lease oniy.

Output during the first four years 10000, 12000, 16000 and 20000 tons
respectively.
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